SNAP LATERAL
CLOSING DEVICE
FOR SLIDING
MECHANISMS

New rounded design
Complete range
Concealed fixing

Reduced dimensions
and standard machining

NV JNV/0

NEWLEATODUE




General features

Elegant design and
perfect manoeuvrability

NEW ROUNDED DESIGN

The new version with rounded shapes is suitable for the
new series of shaped profiles without loss of the usual
manouevrability.

COMPLETE RANGE

Both rectangular and rounded shape versions, utilize
the same fixing kits; the locking pieces of the already
known art. 2050 closing device and the keepers of
MODULO range.

It's also available in a completely white version and an
un-assembled version for special finishing.

CONCEALED FIXING

The device is fixable thanks to a pre-assembled grub
screw, reachable only when the mavoeuvring lever is
pressed, therefore it's not visible when the lever is in
normal position.




e Technical features

-DDUE : shapes become round

Pre-assembled concealed blocking
screw. Quicken the assembly phases,

permits to correct any working
mistakes giving a better aesthetics.

Manoeuvring lever in line with the
cover; it can be operated from any
position.

Rounded shapes to
better combine with
shaped profiles.

Preassembled grub screw for the
fixing of the locking piece.

'\-ﬂ/
e

L Inclined surface for a strong

fixing on any profile
thickness.

Chamfered manoeuvring
hole to avoid sharp edges.



B, A ticle codes

Lateral closing devices for sliding mechanisms

L]

-

N
3
e
\W‘: »
\

=T

2060

2060.1

2060.801

2060.802

2060.803

2060.804

2050.703
2050.708

(patented) Lateral closing device for sliding mechanisms in
extruded aluminium, zamak and nylon; galvanized
preassembled grub screws M6x8 and M6x20

(9010 W=with white nylon lever).

(patented) Rounded lateral closing device for sliding
mechanisms in extruded aluminium, zamak and nylon;
galvanized steel preassembled grub screws M6x8 and
M6x20 (9010 W=with white nylon lever).

v\‘\“\

Kit of 1 locking piece and 1 keeper in stainless steel 430, 2
cap screws @ 3,9x13 in stainless steel 304.

Kit of 1 stainless steel 430 locking piece, 1 black galvanized
zamak keeper and 2 cap screws @ 3,9x13 in stainless steel
304.

Kit of 1 stainless steel 430 locking piece, 1 black galvanized
zamak keeper and 2 cap screws @ 3,9x13 in stainless steel
304.

Kit of 1 locking piece and 1 keeper in stainless steel 430, 2
cap screws @ 3,9x13 in stainless steel 304.

Straight locking piece in stainless steel 430.

20

20

40

40

40

40

40
40

C, F NE, ZE,
HL, 1013,
1015, 9010,
9010W

C, E NE, ZE,
HL, 1013,
1015, 9010,
9010W



ANV JNV/O

Accessories for LATODUE closing devices

2050.709/.710/.711
2050.712/.713

2070.860/.863/.864
2070.865/.866/.868

2070.861/.867

2070.862

2070.870

2070.869/.875/.876/.877

Cranked locking piece in stainless steel 430. 40
40
Keeper in stainless steel 430, 2 cap screws @ 3,9x13 in 40
stainless steel 304. 40
40

Keeper in stainless steel 430, 2 cap screws @ 3,9x13 in

stainless steel 304.

Keeper in black galvanized zamak, 2 cap screws @ 3,9x13 in 40
stainless steel 304.
Blind keeper in black galvanized zamak, 2 c' sk hd. screws 40
@ 3,9x9,5 in stainless steel 304.
40

Keeper in black aluminium and preassembled grub screws.

2070.871/.872/.873/.874  Keeper in black galvanized zamak and preassembled grub 40
screws.
2070.878 Keeper in black galvanized zamak, 2 white galvanized c'sk 40
hd. screws @ 3,9x16.
2070.879 Keeper in black aluminium and preassembled grub screws. 40
2070.880 Blind keeper in stainless steel and black galvanized zamak, 40
o 2 c'sk hd. screws M4x12 in stainless steel 304.
o\
A
N\
L] ‘ﬁ
~

Finishing table

1013 = ivory RAL powder coated 9010W = completely white RAL powder coated NE = electrolytically anodized black colour

1015 = dark ivory RAL powder coated C= mill finished ZE = electrolytically anodized coffee colour

white RAL powder coated F= anodized silver HL = bright gold

9010 =



S TcChnical drawings

2060

25

1.8

20.2

153

(B DY)

145

"

[¢]

F

'

=

13.2

2060.801/.802/.803/.804

54

e J| -
6 1

66

© 16
)

<
o~
52
)
S —
2060.801

2050.703/.704/.708/.709/.710/.711/.712/.713

52
<
o~
M
I |
2050.703
32
A (L]
o
[ S —
'e}

2050.711

2060.1
20 20.2 20
25 ]
TTIRT T TR T
Y | [Tl Y
[ ° [
| Il P | Il
||l ||l
I Il | Il
I Il | Il
I I I 1]
| Il
ARV . n
[ = [
[ [
| Il I Il
. o I . 't
A I I B I It
& | i o ) I I
o | 1 ) o | i
= M IS LINEE: M
19.8
=
N
™ EJ‘ 1 EJ‘ 6, 5]
G- 1 K B- 1 K
) } o ) } o 717
M | [(e] M )\ o)
2
8-+ [ G-+ & 3 3 5
L 1 1 1
9 S
e 4 +
B 150°
2 J
3 rr————
32
52 "
M N S
N — |
2060.802 2060.803 2060.804
32 28.5
52
0 o 3
- o
M
_ E Ekl
I S I S 1
M
0
2050.708 2050.709 2050.710
31.5 S5
(T § 0]
- -
M
B E==————
E==—
- %)
2050.712 2050.713



Keepers series 2070

2070.878

12.2 16 . ré 11 10.2
— ,ﬁ B | — EJ o 75
O- v | =
) =
i P = s & ) @ i 3 b3 & 8
CV)*
= 6-*+ El =
1 g | i N b 1 s
10.2 1502 2 &2
” L QP) O mji
2070.860/.865 2070.861/.867 2070.862 2070.863/.866
10
S - 12 30 K 7@ ’f 12 32
8.6 8
Jmd A ]
b N 9 - ;‘2 n ~ < il g R
el = B L ] d
_ ! ‘Lflk ‘ Ir \* i i I n
in 16 >8 13
4 [ i
2070.864/.868 2070.869 2070.870 2070.871
10.7 30 10.3 30 8.2
7.8 5.5
N o N
f-t===7 Him 13
[ I T = 8- H - € % |
- - | S= =
2070.872 2070.873 2070.874
20 30
16.8 30 1 30 16.2
13.6 14.8 vﬂ ‘
I ~ i )
| A/p B 1 ] A/P @ rﬂ; Lg@ 5
; - o S \ i \
| ==~ \ I \
2070.875 2070.876 2070.877
9.8 9
T 14
g
11.5
g =
: ] - PR
< <
sl | 5|5 3| @ H 3
v . °
j  S— 1 — L
+ - —H —H— 8 12
LD
.
2070.879 2070.880



e Suitability table for italian profiles

Article

Extruder Profile

2060.802
2060.803
2050.703
2050.708
2050.709
2050.710
2050.712
2070.860
2070.861
2070.862
2070.863
2070.864
2070.865
2070.867
2070.871
2070.875
2070.880

AL SYSTEM GLOBAL 60
RUNNER
RUNNER 61-90
RUNNER 61-90 TT
RUNNER TT
R50S
ALCOA WIN9O S
WIN9O S TT
EXPORT 60 S
TRIALL.CO 65 S
ALL.CO TRIALL.CO 65 TT
TRIALL.CO 90 S
TRIALL.CO 90 TT
SG 55
ZN 7-32
BODEGA BS 6
E48S
ETA E48STT
EXPORT 65 S
EXPORT 65 ST
DOMAL 40 S
DOMAL SLIDE 110
DOMAL SLIDE 56
HYDRO DOMAL SLIDE 84
DOMAL SLIDE PA
DOMAL SLIDE PA 110
DOMAL SLIDE PA 80
ALPHA 186
ALPHA 545 S
IND.INVEST ALPHA 560 S
GOLD 650 S
GOLD 650 ST
NC50S
NC 60 INT.
NC 60 STH
METRA NC70S
NC 90 INT.
NC90 S
NC 90 STH
MORELLI MA 8700
MONACO
OCMA PARIGI
SKEIT 60
SKEIT 60 SUPER
SKEIT 60 SUPER TT
PASSERINI SKEIT 70
SKEIT 70 THERMO
SKEIT 80
SKEIT 90
NEW TEC 80 S
NEW TEC90STT
PE 60 SLIDE
PE 70 SLIDE
PE 70 SLIDE TT
TE 640 S
ROYAL 110
ROYAL 110 1SO

o|0]2070.870

ALCAN

o|e|e]|0]|2050.711

ALUMEC

FINAL

PONZIO SUD

PROFILATI

o|lo|o|o|o|o|o|o|o|0o|0o|0o|o|0o|0o|0|0o|o|eo|e|eo|eo|eo|e|eo|0o|e|e|0o|e|e|jeo|jeo|eo|e|e|eo|eo|e|0o|eo|e|e|e|e|e|je|e|e|eje|e|e|e|e|e]|e|2060
[}
[}

o|o|o|o|o|o|o|o|o|0o|0o|o|0|0o|/0o|0|0o|0o|o|eo|eo|e|/e|e|0o|0o|e|eo|0o|eo|e|eo|eo|e|/eje|o|e|e|eo|eo|e|eo|jeo|e|e|e|e|e|eje|eo|e|e|e|e]|e|2060.1
°
°

SCHUCO

9507.428 - REV. 0 - 217054

Savio Spa reserves the right to modify the technical specifications of products featured in this catalogue at any moment and without
warning.

Savio S.p.A. Via Torino, 25 (S.S. 25)
10050 Chiusa S. Michele (TO) Italy

Tel.+39.011.964.34.64 - Fax+39.011.964.34.74 Quality and innovation
www.savio.it - e-mail: export@savio.it fO’" Closingsystems






